EARAZROREIERT — 2 N—XBISY —F 2012538198 (B) 11ELEFIH

el > % 3% 144811 82AK% ‘ [Xfg] WS ‘ EBE] - | & (&) 15000 FHE
[xE<£] 1 % :1,200,000 @ ~ 23 :360,000  ~ 37 :204,000 M ~ 43 :156,000 @ ~ 5 7 :120,000 M
B\ BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
; i o3 | SEHER 1:40.0 4-3-2-1 |41.5| — 1 487 | MBEZ (J11IE)
1l5|5|BEA 56.0 - oy | BANT
L:TLFFE2Ts BiUanNC K= ) -5) =Eizie]
ol1lq|a—e—nen # 3 gﬁ’_fg—ﬁi 1:(461).2 7-6-5-3 [40.6| — | 7 | 401 %g%;!{llmj{/x
L:A—=JIVh7 B:F—U9XEYU Y (42) 4 405
3lglg | AATHL H 3 é%ga (11:411/.25> 9965 [40.9| — | 2 | 446 TE;’E ()
QT FAFAF-XH BEAFDA b 10| g
a7l 71 V751X <4 f 3 ggf%l‘lﬁ 1:(421).9 2-2-1-2 |43.4| — | 6 | 451 /J)\\%bz%*: (@)
R:TTRAFTEIN B:IZXF1T7LIR (#3) H &K #8S
sEY 3| 7FhIA f 3 ﬁﬁ*t 1:(432).5 1-1-3-4 | 43.9| — | 3 | 436 ;gﬁi (hat®)
R:ZAg—F>Uvr BUIYH T v L 8) | Zmam
N s DER RS it 3 ﬁﬁ%ﬂéz 1:(433).1 8-8-8-7 |42.3| — 4 | 442 /ngsi’;gﬁ*u)
R:d—IWR7Ua— B:7z)LES (-6) milll Es
7 9|1 s—v1> # 3 @g%ffglk 1(?/321.)3 5578 |42.7| — | 9 (4_225) Eié (i)
LNFGLXFTH—b B:YH/ToT1 BRBEHS
=5 4t 3 | KEESE 1:43.7 3-4-4-6 |44.5| — 5 440 | BEH—RI GAFN)
sl 2 I9>>F77L 54.0 (@) (o) | PERA
R:TS5y 8% —F B:IUL5—Ya VPR R ¢
N : METZEE #o3 | R 1:(424).1 6-7-9-9 |43.2| — | 8 | 469 Egﬁﬁt ()
LNTINALTIA—- BIINFrX (+16) Il B
® 1 — @B
13—7F— 3,7,2,5,9,4,1,6,8
2o =7r= 3,7,5,2,9,1,4,6,8
J=7r= 7,5,3,2,1,8,9,6,4
43—+ — 5,7,1,3,8,2,6,9,4
[ RN
B R 5 240 74K 1-5 780 % E 1-5 3,100 &R 1-5-8 2,600
% B 5 130M 5-8 150 - 5-1 3,370M 3EE 5-1-8 13,910
1 290/ 1-8 1,020 B & 1-5 2,300
8 150M B H bl 2,990

ABICOVWTRDTEEERROODE. TR LIV,



